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1. Sharing economy platforms for physical assets and goods can be classified into two
types: non-money-based and money-based. An example of non-money-based
sharing economy platforms is Peerby, a peer-to-peer lending site for household items
and appliances where users do not need to pay monetary fees for using household
items and appliances borrowed from their owners. In contrast, in a money-based
sharing economy platform (e.g., Airbnb), users need to pay monetary fees that allow
the owners of the shared asset or goods to cover their costs and even generate
additional incomes.

When a non-money-based sharing economy platform decides to change to money-
based, this movement essentially changes the business model of this sharing
economy platform.

(a) Please identify what business processes need to be substantiaily
revised/enhanced or what new business processes need to be developed, when a
sharing economy platform plans to move from non-money-based to mongy-
based. (13%)

(b) The movement from non-money-based to money-based should also trigger
discussions of whether the IT strategy of the platform needs to be adjusted.
What recommendations will you suggest to the sharing economy platform about
its IT strategy when the sharing economy platform plans to move from non-
money-based to money-based? (13%)

2. One of the key concepts of electronic commerce is digital markets. That is, electronic
commerce establishes digital markets in which consumers (can be businesses)
transact with their suppliers online.

(a) Ina digital market, will information asymmetry between consumers and
suppliers be reduced or intensified? What are the business implications of such
change of information asymmetry (either reduction or intensifying) in digital
markets? (12%)

(b) Some research studies indicate that “in a digital market, the switching cost (i.e.,
the cost of switching from one supplier to another supplier) of consumers can
either be increased or be decreased, depending on the nature of the product or
service being sold.” Please identify the characteristics of products/services that
will have higher consumers’ switching costs in the digital markets than in the
traditional markets. Please also identify the characteristics of products/services
whose consumers” switching costs will decrease when these products/services
are sold in digital markets. (12%)
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(a) Serum JIEE & ={EFEAE: Scrum Master » Product Owner ~ Team
HHEZEAEN T ERFETE - (T%)
(b) #5257 Scrum SP4E H AT SEEAIETT TS - (6%)
(¢) HEZ Sprint Backlog? Sprint Backlog #0MeI {7 EAETH? (6%)

(d) {1+ Burn Down Chart? Burn Down Chart YT Ty BRAEEE 7 FR e —{fE i
#J Burn Down Chart BB - (6%)
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(b) MFIEBERSRGNEEEME DB ERT S (5%)

(0) FEEM A E R ITENR R — B R AR EE? (5%)

(d) E{EZSAYTEZE Actor B Use Case HILE? (5%)

(e) MEBLE{E 4R Use Case Diagram - (5%)
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